
Friday –  Quiz Time 

Can you answer the questions below using 

whichever method you are most comfortable with? 

Remember to multiply we can draw an array or 

count in multiples and to divide we can share with 

faces or count in multiples. Don’t forget to show 

your working out – Good Luck!  

 

6 X 2 =                                            8 X 5 = 

 

 

3 X 10 =                                          4 X 3 = 

 

 

50 ÷ 10 =                                        35 ÷ 5 = 

 

 

16 ÷ 2 =                                           20 ÷ 4 = 

 

Sarah has 14 cookies. She shares them between 2 

people. How many do they each get?  



Mark buys 3 packets of sweets. Each packet has 5 

sweets in it. How many sweets does he have 

altogether?     

 

 

Circle all the even numbers. 

13                          22                                18                 

21                          17                                 52 

 

What do multiples of 5 always end in? 

 

……………………………………………………………………….. 

What do multiples of 10 always end in? 

 

…………………………………………………………………………. 

Write the multiplications number sentence and 

answer which goes with the picture. 

 

https://www.google.com/url?sa=i&url=https://www.nicepng.com/ourpic/u2e6y3t4w7u2o0e6_egg-carton-drawing-carton-of-eggs-clipart/&psig=AOvVaw0iDSq5G_3dZ0qe8WiM20Gd&ust=1611144387664000&source=images&cd=vfe&ved=0CAIQjRxqFwoTCKi4vMr7p-4CFQAAAAAdAAAAABAD
https://www.google.com/url?sa=i&url=https://www.nicepng.com/ourpic/u2e6y3t4w7u2o0e6_egg-carton-drawing-carton-of-eggs-clipart/&psig=AOvVaw0iDSq5G_3dZ0qe8WiM20Gd&ust=1611144387664000&source=images&cd=vfe&ved=0CAIQjRxqFwoTCKi4vMr7p-4CFQAAAAAdAAAAABAD
https://www.google.com/url?sa=i&url=https://www.nicepng.com/ourpic/u2e6y3t4w7u2o0e6_egg-carton-drawing-carton-of-eggs-clipart/&psig=AOvVaw0iDSq5G_3dZ0qe8WiM20Gd&ust=1611144387664000&source=images&cd=vfe&ved=0CAIQjRxqFwoTCKi4vMr7p-4CFQAAAAAdAAAAABAD

